SANT NIRANKARI PUBLIC SCHOOL, SECTOR-16A, FARIDABAD
SESSION 2020-21
CLASS - VII

HOME ASSIGNMENTS FOR 16th TO 18T APRIL

SUBJECT - ENGLISH

ASSIGNMENT- 3 (16% — 18t April)
(PAST TENSE)

1. Complete the sentences. Use these verbs in the past simple:
a) Itwas hotinthe room, sol........ the window.(Open)
b) I, my teeth twice yesterday.(Clean)
c) Theshop.............. at 9 a.m. yesterday.(Start)
d) The match............. at 6 in the evening.(Finish)
e) lalways.............. to be a doctor.(Want)

2. Use the correct form of the verb in past continuous:
a) We (watch) the shop windows when we met Vimal.
b) I (wait) outside the theatre when | saw Om.
¢) When Vijay arrived, Soma (study).
d) When he saw Ramesh in the library, he (return) his books.
e) When | saw them at midnight, they (try) to find a taxi.

3. Change the following as directed.
a) Vishal was living in Kolkata in July last year. (negative)
b) Vimal was talking to Vijay at ten o’clock last night. (negative)
c) At four o’clock yesterday we were all drinking tea. (negative)
d) |was trying to get a taxi at ten o’clock last night. (negative)
e) It was raining in Chennai at five o’clock last evening. (negative)
f) They were crying there. (question)
g) He was playing cricket. (question)
h) He was doing his homework. (question)
i) Ruchi and Rubi were cooking in the kitchen. (question)
i)  We were going to the market. (question)

4. Choose the correct verb from those given in brackets:

a) He thanked me for what I............. (do).

b) When we went to the cinema, the film .........already ............. (start)
¢) Didyou thinkyou ............. me somewhere before? (see)

d) e, to Mumbai once before. (go)

e) They.....not........ anything till night. (read)



Chapter- Nutrition in plants
SCIENCEDated : 16to18 April

Q1- Why do organisms need to take food?

Q2- Distinguish between a parasite and a saprotroph.

Q3- How would you test the presence of starch in leaves?

Q4- Give a brief description of the process of synthesis of food in green plants.

Q5- Mark "True' if the statement is true and 'False’ if it is false:
Statement  (True/False)

a. Carbon dioxide is released during photosynthesis.(True/
False).

b. Plants which synthesise their food themselves are called saprotrophs.(True/
False)

c. The product of photosynthesis is not a protein.(True/
False).

d. Solar energy is converted into chemical energy during photosynthesis.(True/
False).

Q6- Amarbel is an example of:

a. autotroph
b. parasite

c. saprotroph
d. host

Q7- The plant which traps and feeds on insects is:

a. cuscuta

b. china rose

Cc. pitcher plant
d. rose

Q8- Choose the correct option from the following:

Which part of the plant gets carbon dioxide from the air for photosynthesis.
a. root hair

b. stomata

c. leaf veins
d. sepals



Subject — Mathematics

Date Homework / Worksheet / Assignment

16-4-2020 Do the following worksheet:

17-4t-02020 1) (#5)-(+9) = 2) (-3)-(+8) =
3) (-7)-(0) = 4) (+3)-(+3) =
) (#1)-(-9) = 6) (+6)-(+2) =
7) (H)-(+7) = 8) (+#9)-(+4) =
8) (-8)-(+4) = 10) (+4)-(0) =
1) (M) -(-7) = 12):(=3)=(H) =
13) (+9)-(0) = 14) (+3)-(#3) =
15) (-2)-(#3) = 16) (#9)-(-3) =
17) (-2)-(+2) = 18) (+7)-(+3) =
18) (+6)-(0) = 20) (+2)-(+5) =

18-4-2020 Do the following worksheet:
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Write the Correct Comparison Symbol ( >, < or =) in Each Box
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SUBJECT- HINDI
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SUBJECT- SOCIAL SCIENCE
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